tre frazioni, ordine delle operazioni

Nome:
1 1 1
—_ — — X =
2 3 3
1
—+35+7
2
1
——12+6=
2
3 1 3
—_ — — X =
4 2 2
1
27 +9+ —
6

Data: Punteggio:

60 +6—

N =

N —
X
| W
+
NS OS]
Il

N —

N —

Bl —
I

3
Z-30+3=
4
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, ‘ g % ‘ tre frazioni, ordine delle operazioni

Nome: Data: Punteggio:
2 3 3 18 2 2
1 11 1 I 19 1
—4+35+7=— =5= 60+6— == — =9
2 2 2 2 2 2

1 3 1 1 3 3 9 4
L 12+6=(-2)=(-1- S22 292
2 6=(3)=C13) 27573755
301 3 11 1 1
——=x==0 — X —F - ==
1 22 6 2734 3
1 19 1 3 37 1
27494 = — —3- 2 30+3=(-21)= (9=
6 6 6 1 CZ7) =09
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